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Solve the equation
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(a) Solve the equation x — 12x +27 = 0.
2] | a) vikak bwo whde swilbars williply o give 23 and odd togive -127
(b) Hence, or otherwise, solve the equation (3%)2 — 12(3%) + 27 = 0. -9 o -3
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(a) Solve the equation x? — 12x + 27
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Solve the equation
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Sketch the graph of y = *, clearly showing the coordinates of the point where the
graph intercepts the y-axis and stating the equations of any asymptotes
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Giveny = e?*:
(i) Write down an expression for . L) \lsinﬂ e draun. cule.

(i) Find the gradient of y = e2* at the point where x = 0.
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Use a calculator to find the value of
@) Slog7

(i) 2log;3+3logs2

giving your answers to four significant figures.
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Solve the equation ¢* — 16 = 0, giving your answer in the form alna where a is an
integer.
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Write down the value of:
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Sketch the graph with equation y = a*,a > 1, stating the coordinates of the point
where the graph intersects the y-axis and the equation of any asymptotes,
Also state whether this equation would represent exponential growth or decay.
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The following equations can be used for exponential models.

State whether each one would represent exponential growth or exponential decay.
@M y=37
(i) 0(2)
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Write down the value of a in the following statements:

O -z L) 3 raised t W power of Mmmherdoml??
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(i) 4a® =64
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Write down the value of  in the following statements:
() logsa=4
(i) log,216=3
(iii) log,128=a
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